2 RERBOMBEE

(1) HEHDOH® (B : 85, %)
X5 FE 22 23 24 25 26 SRTEELE
500 = 3k & 1 1 1 1 1| 100.0
E[ 50 ~ 99 & 0 0 0 0 0 -
#7000 ~ 1,99 = 0 0 0 0 0 -
22000 ~ 299 = 1 1 i 2 2 | 100.0
= [ 3000 ~ 4999 7 2 2 4 3 3| 100.0
s | 5000 ~ 9999 = 6 6 4 4 4| 100.0
7 [ 10,000 ~ 19,999 = 2 2 2 2 2 | 100.0
20,000 7 Bl FE 0 0 0 0 0 Z
# ™ = 0 0 0 0 0 =
A L EE 6 6 6 6 6 | 1000
al® W m o = 3 3 3 3 3 [ 100.0
B A i w 3 3 3 3 3| 100.0
=z At 12 12 12 12 12 | 100.0
56 & O M & 11 11 11 11 11]7100. 0
5t B E M & 2 2 2 3 371100, 0
(2) #HEBHRUVMEESEFHOHT (B : A, %)
X5 FE 2 2 23 24 25 26 SRTEELL
& N 96, 979 95, 358 93, 585 91, 969 90,588 | 98.5
N 5 5 k& 21,694 21, 650 21,719 21,669 21,850 | 100 8
| # M b & 224 227 232 936 941
& 1k 317 324 320 331 336 | 101.5
8 =t 97, 296 95, 682 93, 905 92, 300 90,924 | 98.5
F4# & 8 = 51.3 50. 0 481 469 4970
m & N 92,119 95, 346 100, 974 107, 039 125,176 | 116.9
i & 347 347 402 402 400 | 99.5
& 3 92, 466 95, 693 101, 376 107, 441 125,576 | 116.9
5 &t 189, 762 191, 375 195, 281 199, 741 216,500 | 1084
B KN & & 189, 098 190, 704 194, 559 199, 008 215,764 | 108 4
k& & 664 671 722 733 736 | 100 4
T @ & B P X 82, 208 81,062 79, 462 78, 171 76,531 | 97.9
#E M & B F B 80, 624 83, 888 88, 555 94, 447 110,996 | 117.5
(3) ZEHDHTE (B : A, %)
X5 FE 2 2 23 24 25 26 SATEEL
= g 40 41 41 40 40 | 100.0
Ry Ee 12 12 12 12 127171000
1% E = & 270 270 268 258 260 | 100.8
2| 55 M A& E 0 0 0 0 0 .
=t 310 311 309 208 300 | 100. 7
5 5 kK K 17 16 17 18 2917122
= E7) 12 12 12 12 12 | 100.0
55 B 5 EE 5 6 2 i 3] 300.0
B E & & 63 64 64 64 64 | 100.0
e 5 5 B 4 B X 7 9 10 11 9| 81.8
=t 75 76 76 76 76 | 100.0
S5 b & i 2 3 3 4 4] 7100.0
5 B 385 387 385 374 376 | 1005
578 & M 19 19 20 22 26 | 1182
% E R 49 49 5.9 5.9 6.9

XIEEHERCL, BREEEZREZET,




(4) BEHOHTE (B : A, %)
X5 FE 22 23 24 25 26 STRTEELL
e E S 8 5 7 9 8| 889

E E & B B 310 277 273 274 251 | 91.6
=1 iE 26 20 29 71 241711473

= i 27 26 19 20 15| 750

[ - 87 79 82 85 76 | 894

g iaf 113 100 94 95 93| 979

ER & = 58 30 29 24 17 127777076
BEEXEEMBEMIESR 0 4 4 4 6 | 150.0
70 i 27 26 28 32 25 17781

£ % 5§ B B 32 -
z 0O t B B 4,867 4,080 4,038 3,928 3,801 | 99.1
a 3 5 217 4. 362 4 318 4 211 4150 | 98.6

578 &k H 2,044 1,478 1,494 1,433 1,443°] 1007

% RR 39,9 3379 346 34,0 34,0

5 = 1,299 1,289 1,281 1,255 1,266 | 100.9

‘ # & 937 919 942 891 863 | 96.9
Hg i g 1,027 659 680 627 642 | 102.4
~ AR %= 433 284 295 249 255 | 102.4
ml B2 £ B B 5 7 6 4 71 175.0
e m T 81 70 66 70 61 | 87.1
Al F [ 88 83 42 66 al 7112
A & B 379 318 323 330 311 | 94.2
i = % B @ 7 7 8 5 7 1400
Z Ot = % 961 257 243 285 253 | 88.8

& i _ 469 432 429 438 | 1021

(5) ZEBEREEMHEBEOKED (BE{ar - #EEE. %)
X5 FE 2 2 23 24 25 26 SATEEL
B ' 32 32 33 41 32| 78.0

5 E 125 126 127 124 121 | 97.6

= E 36 36 35 35 32| 9.4

£ 25 25 24 24 22 917

& 7 7 7 7 77177000

e 3 3 3 3 P

F70 i i i i 171000

2 #t 136 96 97 106 107 [ 100.9

it = ES 13 14 13 13 13 | 100.0
Z 2 # 25 23 23 15 16 | 106.7

Z 3 367 327 328 334 321 | 96.1

(6) H () F& - LSRR E DHEFE (B4 e, %)
X% FE 22 23 24 25 26 SRR
5 (it ) & &b 12 12 12 12 12 | 100.0
S [ i 12 12 12 12 12 | 100.0

(7) BEFEHKEOHR (B : M. %)
X5 FE 22 23 24 25 26 STATEELL
5 T 289, 264 287, 200 285, 212 289, 156 287,496 | 99.4

S T 216, 486 218, 387 217, 964 214,003 218,816 | 102.2

&t 265, 995 264, 552 263, 041 263, 581 264, 341 | 100.3




